Bond

Transformers

Look at how the picture on the top has changed and
circle the picture that copies the same change.
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Bond

Answers

1: The ice cream has turned from plain ice cream to one with
dots and one flake. Option C is the correct answer.

2: The arrow pointing to the right is now pointing to the left, the
white colour has been changed to vertical stripes and the

size has been made smaller. Option D is the correct answer.

3: The flat black oval has become the top of a white 3D cylinder
so the flat black rectangle transforms into the top of a white
cuboid with a rectangular top. Option B is the correct answer.
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